ZYXEL N

LN
~
. 29\
NSG Series /
Nebula Cloud Managed nebula

Security Gateway

Quick Start Guide
ENGLISH | DEUTSCH | FRANCAIS | ITALIANO

(o]o1dle]sl-|l Mounting

Rack Mounting

Desktop Installation

— o
— ¢ =

-_—

Wall Mounting

Wall Mount Screw

6.5~75 20~30
@ ] Gummrmmmmy |
15 3-4

Unit: mm

n Hardware Connection

ED @———> /0]

POWER

Power Outlet

—— LAN/DMZ ——

—@Q—ID = [T ™|i™|

n Device Configuration

—— LAN/DMZ ——

[ ) e )
C

NSG IP: 19216811 PC IP:192168.1.2~192.168.1.254

© O hito/n0216811 L [ ]

( ZYXEL User Name
© & vsername: admin I
Password: 1234
Password
N Login

@ @ (& httpynozies 2] ’

ZYXEL NSG Series )

Device Information

System Status

ﬂ NCC Management

WAN
= [

Modem / Router

( \
G @ http://nebula.zyxel.com | ][]
( 2

S ZYXELnebula Login

©®

myZzyxel Sign In
emal [ ] [ |-N—
Password )
Submit

S/N:z XXX XXXXX

©e | 2] [e][x]

N
':')'

LAN MAC: XXXXXXXXXX

ZYXEL nebula

Device Back Label ORGANIZATION

If you create a new site we can help
you configure it.

Support Information

North America France
USA
Q +1800 2554101 Q +33(0) 892692610

® support@zyxel.com ® support@zyxel.fr
UK Italy

 +44(0) 118 9121700 , + 390112308000
® support@zyxel.co.uk ® support@zyxel.it

Germany
Q +49(0)2405-69 09 69
® support@zyxel.de

See the User's Guide at www.zyxel.com for more information,
including customer support and safety warnings.

EU Importer

Zyxel Communications A/S

Gladsaxevej 378, 2. th. 2860 Sgborg, Denmark
http://www.zyxel.dk

US Importer

Zyxel Communications, Inc

1130 North Miller Street Anaheim, CA 92806-2001
http://www.us.zyxel.com

Copyright © 2018 Zyxel Communications Corp. All Rights Reserved.

@ Rack Mounting: Available only for models with rack mounting
holes.
@Attqch the mounting brackets to the NSG using a #2 Philips
screwdriver and M3 flat head screws.
@ Mount the NSG on a rack using a #2 Philips screwdriver and
M5 flat head screws.
Desktop Installation: Attach rubber feet to the NSG and place on
a desk.

@ Rackmontage-Zubehdr: nur fir Modelle mit Rack-Montage
Offnungen verfigbar.
@ Bringen Sie die Montagehalterung mithilfe eines # 2
Kreuzschraubendrehers und den M3 Senkkopfschrauben an.
@ Bringen Sie die Montagehalterung mithilfe eines # 2
Kreuzschraubendrehers und den M5 Senkkopfschrauben an.
Tischinstallation: Befestigen Sie die Gummifil3e am NSG und
stellen Sie ihn einfach auf den Schreibtisch.

@ Kit de montage rack : disponible uniquement pour les modéles
équipés de trous de montage de montage rack latéraux.
@ Fixez les supports de montage au NSG & I'aide d'un tournevis
cruciforme N°2 et de vis M5 a téte plate.
@ Fixez le NSG sur un rack & l'aide d'un tournevis cruciforme N°2
et de vis M5 & téte plate.
Installation de bureau : fixez les pieds en caoutchouc sur le NSG
et placez-le sur un bureau.

Kit di montaggio a rack: disponibile solo per i modelli con fori di
montaggio sul telaio.
@ Fissare le staffe di montaggio al NSG con un cacciavite a
croce n. 2 e viti a testa piatta M3.
@ Montare il NSG su un rack utilizzando un cacciavite a croce n.
2 e viti a testa piatta M5.
Installazione Desktop: Fissare i piedini di gomma al NSG e
posizionare su una scrivania.

Wall Mounting: Available only for models with wall-mounting
holes on the back.

@ Drill two holes on the wall at the appropriate distance apart.
Insert the wall plug and screws into the wall. Leave a wall gap as
shown on which to hang the NSG.

@ Align the holes on the back of the NSG with the screws on the
wall. Hang the NSG on the screws.

Wandbefestigung: Nur verfugbar fur Modelle mit entsprechen-
den Lochungen auf der Ruckseite:
(1) Bohren Sie zwei Lécher mit dem notwenigen Abstand in die
Wand. Bringen Sie an der Wand die Verankerungen und Schra
ben entsprechend an. Lassen Sie ein Wandllcke wie abgebildet
und befestigen Sie die NSG.
(2) Passen Sie die Lochungen auf der Riickseite der NSG an die
Schrauben in der Wand an. Hdngen Sie die NSG an den Schra
ben befestigt auf.

@ Montage mural : disponible uniquement sur les modeles équipés
de trous de fixation sous lI'équipement.
@ Percez 2 trous dans le mur, & une distance appropriée. Insérez
les chevilles et les vis dans le mur. Laissez un espace suffisant
pour fixer le NSG.
(2) Alignez les trous du NSG avec les vis. Accrochez le NSG sur les
vis.

Installazione a parete: disponibile solo per i modelli con i fori sul
retro.
@ Effettuare due fori nella parete alla distanza corretta. Inserire
la staffa ed avvitarla al muro. Lasciare spazio come mostrato,
per agganziare I'NSG.
@ Allineare i fori sul retro dell’NSG alle viti sul muro ed append-
erlo.

@ @ Connect the power socket to an appropriate power source.
@ Connect your computer to the NSG's LAN port using an
Ethernet cable.
@ @ SchlieBen Sie den Netzadapter an eine geeignete
Stromquelle an.
@ Verbinden Sie Ihren Computer mit einem Ethernet-Kabel mit
dem LAN-Port des NSG.
@ @ Branchez la prise de courant & une source d'alimentation
appropriée.
(2) Connectez votre ordinateur au port LAN du NSG & l'aide d’un
céble Ethernet.
@ Collega la presa di alimentazione a una sorgente di
alimentazione appropriata.
@ Collega il computer alla porta LAN del NSG utilizzando un
cavo Ethernet.

@ @ Launch your web browser and type http://192.168.1.1. Your
computer must have an IP address in the same subnet as the
NSG.

@ Enter admin as the user name and 1234 as the password.
Click Login and configure your WAN connection settings in
the Configuration > Interface screens. See the NSG User's
Guide for detailed information.

@ Starten Sie Ihren Webbrowsern, und geben Sie
http://192.168.1.1 ein. Die IP-Adresse des Computers muss sich
im selben Subnetz wie die des NSG befinden.

@ Geben Sie als Benutzername admin und als Passwort 1234
ein. Klicken Sie auf Login (anmelden), und konfigurieren Sie
die WAN-Verbindungseinstellungen im Bildschirm
Configuration > Interface (Konfiguration > Schnittstelle).
Ausfihrliche Informationen dazu finden Sie im
Benutzerhandbuch.

@ (3 Lancez votre navigateur Web et tapez http://192.168.1.1. Votre
ordinateur doit disposer d'une adresse IP dans le méme
sous-réseau que le NSG.

(4) Entrez admin comme nom d'utilisateur et 1234 comme mot de
passe. Cliquez sur Login (ouverture de session) et configurez
vos parameétres de connexion WAN dans les écrans
Configuration > Interface (Configuration > Interface). Voir le
NSG Guide de l'utilisateur pour les informations détaillées.

o @ Apri il browser e digita http://192.168.1.1. Il computer deve
avere un indirizzo IP nella stessa sottorete del NSG.

Immetti admin come nome utente e 1234 come password.
@ Clicca Login (accesso) e configura le tue impostazioni WAN

nelle schermate Configuration > Interface (Configurazione >

Interfaccia).Vedi la Guida per I'utente NSG per i dettagli.

@ @ Connect the NSG's WAN port to a modem or router that has Internet
access.

@ Go to the Zyxel Nebula Control Center (NCC) website
(http://nebula.zyxel.com). Click Login and you will be redirected to the
myZyxel portal page. Create an myZyxel account and sign in.

@ Create an organization and a site (network). Use the NSG's first MAC
address and serial number (S/N) to register and assign it to the site.

@ @ Verbinden Sie den WAN-Port des NSG mit einem Modem oder Router
mit Internetanschluss.

@ Gehen Sie auf die Zyxel Nebula Control Center (NCC) Webseite
(http://nebula.zyxel.com). Klicken Sie auf Anmelden/Login, um auf die
myZyxel Portalseite umgeleitet zu werden. Erstellen ein
myZyxel-Konto und melden sich damit an.

@ Erstellen Sie eine Organisation und einen Standort (Netzwerk).
Verwenden Sie die erste MAC-Adresse des NSG-Gateway und die
Seriennummer (S/N) um sich zu registrieren, und sie dem Standort
zuzuordnen.

@ @ Connectez le port WAN du NSG & un modem ou un routeur disposant
d'un accés Internet.

@ Allez sur le site Zyxel Nebula Control Center (NCC)
(http://nebula.zyxel.com). Cliquez sur Login (Connexion) et vous serez
redirigé vers la page du portail de myZyxel. Créez un compte myZyxel
et connectez-vous.

@ Créez une organisation et un site (réseau). Utilisez la premiere
adresse MAC de la passerelle NSG et un numéro de série (S/N) pour
I'enregistrer et I'attribuer au site.

o @ Connetti la porta WAN del NSG a un modem o router con accesso
Internet.

@ Andare sul sito web Zyxel Centro di Controllo Nebula (NCC):
http://nebula.zyxel.com. Fare clic su login per accedere alla pagina
del portale myZyxel. Creare un account myZyxel sul portale.

@ Create un‘organizzazione e un sito (rete). Utilizzare il primo indirizzo
MAC del Gateway NSG e il numero di serie (S/N) per registrare e
assegnarlo al sito.



ZYXEL N2

NSG Series

Nebula Cloud Managed
Security Gateway

nebula

Quick Start Guide

ESPANOL | SVENSKA | PYCCKUW | fEifAHsC
LpEth

(o]o1dle]sl-|l Mounting

Rack Mounting

Desktop Installation

a
= = )\
$ -
=3 =

-_—

Wall Mounting

Wall Mount Screw

6.5~75 20~30
@ ] ooy |
15 3-4

Unit: mm

n Hardware Connection

12V II28A

@——m—> /0]

l' POWER

Power Outlet

—— LAN/DMZ ——

—@Q—I = [T ™|™|

n Device Configuration

—— LAN/DMZ ——

[ ) e
C

NSG IP: 19216811 PC IP:192168.1.2~192.168.1.254

© O hitoin0216811 [}

B X

( ZYXEL User Name
© & vsertame: admin I
Password: 1234
Password
N Login

@ @ (& htpynozies 2] ’

ZYXEL NSG Series )

Device Information

System Status

ﬂ NCC Management

WAN
= [

Modem / Router

| [e][x]

“ )
( S5 ZYxeLnebula Login

©

myZyxel

f
G @http://nebulq.zyxel.com |

Sign In

Email [ ] *_‘)_,

Password

Submit

S/N:z XXX XXXXX

©e | 2] [e][x]

S
':')'

LAN MAC: XXXXXXXXXX

ZYXEL nebula

Device Back Label ORGANIZATION

If you create a new site we can help
you configure it.

Support Information

Spain Russia
, +34911792100 Q, +7(495)539 9935
= soporte@zyxel.es =® info@Zyxel.ru

Sweden
&, +468557760 60
® support@zyxel.se

Taiwan
Q, +886227399889
® retail@zyxel.com.tw

See the User's Guide at www.zyxel.com for more information,
including customer support and safety warnings.

EU Importer

Zyxel Communications A/S

Gladsaxevej 378, 2. th. 2860 Sgborg, Denmark
http://www.zyxel.dk

US Importer

Zyxel Communications, Inc
1130 North Miller Street Anaheim, CA 92806-2001
http://www.us.zyxel.com

Copyright © 2018 Zyxel Communications Corp. All Rights Reserved.

@ Kit para montaje en un equipo : disponible sélo para modelos con
agujeros de montaje en equipo.
@ Fije los soportes de montaje NSG con un destornillador de
estrella nimero 2 y tornillos M3 de cabeza plana.

@ Monte NSG en un bastidor con el destornillador Philips nimero
2y tornillos M5 de cabeza plana.

Instalacion de sobremesa: Coloque las patas de goma en NSG
para ponerla sobre la mesa.

@ Stativmonteringssats: finns dven for modeller med
stativmonteringshal.

@ Montera installationsfastena i NSG med en #2
stj@rnskruvmejsel och M3-skruvar med platt huvud.

@ Montera NSG pd ett rack med en #2 stjarnskruvmejsel och
M5-skruvar med platt huvud.

Skrivbordsinstallation: Montera gummifétterna i NSG och placera
pd en bank.

@ MOHTa>)HbIA KOMMNEKT A5l YCTAaHOBKU B CTOVIKY: TONIbKO AJ151
Mozenei npeAHasHaYeHHbIX 415 CTOEYHOro MOHTaXa.

@ MpuKkpennTe MOHTaXHble KPOHLUTeNHbI K NSG BUHTaMu M3 ¢
MA0CKOW roN0BKOV C MOMOLLIbHO KpecToBoV oTBepTKM (Ne2)

(2) MpuikpenwnTe NSG K cTolike BUHTaMM M5 € NI0CKOV rON0BKOA ¢
NOMOLLbIO KpecToBo oTBepTKM (Ne2)

YcTtaHoBKa Ha pabouem ctone: MNpukpenute K NSG pe3nHOBble
onopbl 1 YCTaHOBUTE ero Ha paboyem cTone.

NEREEMF NEATHIERENES
()M 2 S+FIRLTIM M3 FRIBL, BREZIEFINSG L.
() 6/ 2 S+FIBLTIF M5 FKIBL, ENSCREFNE L.
KERE: AINSCE LBRE, EFRA L,
HIREREMEBAN MR RIS
(DA 2 SE+FREMIETFH M3 FERIEM I RELREFEINSG Lo
)15/ 2 SFHFIEMIEF A M5 TERIZA IENSCEIE IR Lo
SEREEBWEZEEINSG £ AERIIRE Lo

@ Montajes: Disponible sélo en los modelos con los agujeros de
montaje en pared.

@ Taladre dos agujeros en la pared a la distancia adecuada.
Inserte los anclajes y tornillos en la pared. Deje un espacio en la
pared como se muestra para colgar el NSG.

@ Alinee los montajes del NSG con los tornillos en la pared.
Cuelgue el NSG en los tornillos.

@ Vaggmontering: Mojligt endast fér modeller med vaggfdste pd
baksidan.

@ Borra tvé hal pd vaggen pd ldmpligt avstdnd fran varandra.
Satt in pluggar i hdlen och skruva darefter i skruvarna. Ldmna
ett gap mellan vagg och skruv for att hdnga upp NSG.

@ Rikta hdlen pd NSG: ns baksida med skruvarna pd vaggen.
Hang NSG pad skruvarna.

HacTeHHbI/ MOHTaX JOCTyMNeH TONbLKO ANst MoAeneli ¢
OTBEPCTUAMU ANSt MOHTaXa Ha 3ajHeli naHenu.

@ MpoceepanTe ABa OTBEPCTUSA B CTEHE. 3akpenuTe ABa BUHTa B
cTeHe. OcTaBbTe 3a30p, Kak MOKa3aHO Ha PUCYHKe, YTO6bI
nosecnTb Baw NSG.

@ [MoBecbTe NSG Ha BUHTLI.
BERE (VERTRSHEEEREIANES
(D fEH882 TR MBS &35 M07L, BB BT NIBET, F BB TR S
EMKE, B FHENSG -
(2) $NSCIEEB TS HEEE ARSI, BISNSCHETERET L.

ERp RNt (BN A RTINS
(D) 1548 L F—7k 450 1 2 5 L S R4 L Bl 2 BB B )
(NSG50 MEFLAIEERE174mm) o Hk A ZERREE (5 BA8H 1844 IRAABEEL{ETE
EEB#1-1.5mm ERIMHZENSCH.
(2) NSG [EEEPEEHIFL 24 A0SR 4% SSNSGH | SERREEHbgRsE o

@ @ Conecte el adaptador de corriente en una fuente de corriente
apropiada.

@ Conecte su ordenador al puerto LAN del NSG usando un
cable Ethernet.
@ @ Anslut eluttaget till en ldmplig stromkalla.
Anslut din dator till NSGs LAN-port med en Ethernet-kabel.
@ @ MoacoeAnHUTEe pasbeM NUTaHUA K Haj1exalleMy NCTOYHUKY
NMUTaHUS.
@ MogkntoumTe KOMNbIOTEP K NOPTY LAN ycTpoiictBa NSG npu
nomoLy kabensa Ethernet.
(1) B REOEEEE Y AR,
(2) ERLUAM B4 EHERE) NSG B LAN B0,
() WERGEEEEEENER
(2) B—1§Z A4S BASEIZE NSG #9 LAN #o

@ @ Abra el navegador web y escriba http://192.168.1.1. Su
ordenador debe tener una direccién IP en la misma subred
que el NSG.

(4) Escriba admin como nombre de usuario y 1234 como
contrasefna. Haga clic en Login (Iniciar sesién) y configure los
ajustes de su conexion WAN en las pantallas Configuration >
Interface (Configuracidén > Interfaz). Consulte la Guia del
usuario del NSG para informacion mds detallada.

@ (3) starta webbldsaren och skriv http://192.168.1.1. Din dator
mdste ha en IP-adress i samma underndt som NSG.

@ Ange admin som anvéndarnamn och skriv 1234 som |6senord.

Klicka pd Login (Logga) in och konfigurera Dina WAN-anslut-
ningsinstallningar i skarmarna Configuration > Interface
(Konfiguration > Grdnssnitt). Se NSG bruksanvisningen for
utforlig information.

@ @ 3anyctuTe Beb-6pay3sep 1 BBeauTe agpec http://192.168.1.1. IP.
IP-agpec KoMMbloTepa JO/KEH HAXOAUTLCSA B TOV e NoAceTH,
uTo 1 IP-agpec ycTpoiictBa NSG.

@ BeeanTe nmsa admin n napons 1234. HaxmuTe Login (Bxog) v
HacTporiTe NnapameTpbl NogkatoveHns NBC B MeHto
Configuration > Interface (KoH$purypauus > NHTepdelic). Cm.
PYKOBOACTBO noJsib3oBatensd NSG.

(3) BE) Web 588, BRA http://192.168.1.1, BN IP L UATES
NSG HHRENFRA.

(@) APBEAN admin, BN 1234, 8 Login (B R) , RETHE
Configuration > Interface (A28 > #%#0) REEE WAN &g
B.152 0 NSCGAFER, THFAER.

(3) MBCAMBEZIER ABH A http://192168.1.1°(CBALHY 1P fiit
WAZEEL NSG i FHEE FHERE o

(@) BA admin A ERE BT BER 1234°3—T Login (BA) It
7E Configuration >Interface (527 > /@) FNE@HRTE WAN E
BRoPFMBE MBS RUNSG ERFM)-

@ @ Conecte el puerto WAN del NSG a un médem o router con acceso a
Internet.

@ Vaya a la pdgina web Nebula Control Center (NCC) de Zyxel
(http://nebula.zyxel.com). Haga clic en Iniciar sesion parair a la
pdgina del portal myZyxel. Cree una cuenta myZyxel e inicie sesion.
Cree una organizacién y un sitio (red). Utilice la primera direccion
MAC de la puerta de enlace NSG y el nimero de serie (S/N) para
registrarla y asignarla al sitio.

@ @ Anslut till NSGs WAN-port till ett modem eller en router som har
internet&tkomst.

@ Ga till webbplatsen fér Zyxel Nebula Control Center (NCC)
(http://nebula.zyxel.com). Klicka p& Logga in s& omdirigeras du till
portalsidan for myZyxel. Skapa ett konto for myZyxel och logga in.

@ Skapa en organisation och en site (nGtverk). Anvénd NSG-gateway-
ens férsta MAC-adress och serienummer (S/N) for att registrera och
tilldela den till platsen.

@ @ MoakntoumTe nopT WAN ycTpoiicTBa NSG K MogeMy Uiv poyTepy,
nmetoLemMy A0CTyn B MHTEPHET.

@ MepelianTe Ha cainT Zyxel Nebula Control Center (NCC)
(http://nebula.zyxel.com). HaxxmuTe «Bxoa» — Bbl byseTe
nepeHanpaBneHbl Ha CTpaHuLy nopTtana myZyxel CosaaiTe akkayHT Ha
myZyxel.com 1 BbINOJIHUTE BXOZ, B CUCTEMY.

BBeauTe MMA opraHvsaumn 1 cosgaliTe ceTeBoli y3en. Beegute nepsbiii
MAC-agpec v cepuiiHbili Homep (S/N) Wwnto3a NSG Ana nx perncrpaumm
1 NPUCBOEHUSA AaHHOMY Y3/y.

(5) HNSGHIWANIH I N EAS I B B8 B .

@ A1) Zyxel B9 Nebula #1510y (NCC) M4 (http:/nebula.zyxel.com), &
FHBR, BREEEE myZyxel I JF TH, 81 myZyxel tkF HER,

(7) BIRARMER (FE) o/ NSG FIXME— MAC HIMERIFFIS (S/N)
AMHIGH SRR RIS,

(5) #ENSRIWANIER 2 2 Pl 7 ERAB IR ABRE O BRI S B P 28

@ SBRITE Zyxel Nebula #4IF0 (NCC) #4814 (http:/nebula.zyxel.com)o$%
—F Login (BA) EEREHEBE myZyxel AQFEEIL myZyxel
RSR W Ao
JBIT AR A R AR, (HEER) o5 NSG RERIEE—{E MAC it B 5% (S/N)
SE M E SR E AR



